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‘The General Theory of Employment, Interest and Money’ was written by an eminent
economist. Name that economist.
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If AY change in income, Al = change in investment and k = value of the investment
multiplier, the relationship can be written as---.
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If C=0.75Y and I= Rs. 400, then equilibrium national income would be---.
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What is the definition for marginal propensity to consume?
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If Y= C+l and C=a+bY , then equilibrium level of income ( Ye) would be ---
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What does GDP include?
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Given the consumption function C = 20 + 0.54Y, what is the corresponding savings
function?
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According to Keynes, consumption is a function of ---.
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Total consumption divided by total income gives us what?
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‘Supply creates its own demand” is in the economic domain known as ---.
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Mention the crucial difference between the Classical and Keynesian money models .
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What is absolute income hypothesis? Who pioneered the concept of Absolute income
hypothesis?
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Who introduced the concept of Ratchet effect and Demonstrated effect in the theory of
consumption?
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If the MPC=4/5, find the value of the investment multiplier.
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Permanent income hypothesis was introduced by a Nobel Laureate economist. What was his

hypothesis?
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According to Fisher’s Time Preference Theory, what do the consumers actually endeavour?
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In macroeconomics, investment is defined as.................
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What is crude quantity theory of money? What is its equation?
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What is transaction demand for money ? With whom is it dependent?
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On which factor speculative demand for money depends?
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Define Liquidity trap ? How does it work in case of fiscal and monetary policy?
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IS-LM curves analysis simultaneously determines what?
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If money supply increases, how does the shape of the IS /LM curve change?
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Given the saving function S= 0. 2 Y and the investment function, I = 102 - 0.2i, then what is
the equation of the IS function?
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What is fiscal policy?
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Who said, ‘inflation is always and everywhere a monetary phenomenon’ ?
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Consider the following Statements:
1. Inflation is advantageous to borrowers.
2. Inflation is advantageous to bond-holders

Which of the statements given above is/are correct?
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Who elaborated the concept of inflationary gap ?
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According to Friedman, what is the shape of the long- run Phillips curve?
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Who, among the economists, solved the Knife — edge instability problem ?
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